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GCSE Exam Questions: Converting Units of Area and Volume

1) (a) Write 24m? in cm?.

(2)
(b) Write 440mm? in m>.
(2)
(4 marks)
2) (a) Write 7m?® in cm?.
(2)
(b) Write 90000mm® in m?.
(2)
(4 marks)
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GCSE Exam Questions: Converting Units of Area and Volume

3) (a) A fence with an area of 60m? needs to be painted.
Each tin of paint covers an area of 50000cm?>.

How many tins of paint will be needed to cover the entire fence?

(2)
(a) Ifeach tin costs £6.50, how much will it cost to cover the entire fence?
(2)
(4 marks)
4) (a) Find the area of the rectangle. Give your answer in cm?
Tcm
dem
(2)
(b) Convert your answer in (a) to m?
(2)
(4 marks)
thirdspacelearning.com Helping schools close the maths attainment gap through targeted one to one teaching and flexible resources

2



GCSE Ratio and Proportion | GCSE Exam Questions | Converting Units of Area and Volume

THIRD SPACE
LEARNING

GCSE Exam Questions: Converting Units of Area and Volume Answers

Question Answer Marks
1) (a) | Write 24m? in cm?. (a) 24 x100? 1)
240,000cm? (O))
(b) | Write 440mm? in m>. (b) 440 + 1000? M
0.00044m> 1)
2) (a) | Write 7m? in cm?. (a) 7x100° 1)
7,000,000cm? 1)
(b) | Write 90000mm® in m?>. (b) 90000 = 10003 1)
0.00009m° (0))
3) (a) | A fence with an area of 60m? needs to be (a) 60 x100%= 600,000
painted. Each tin of paint covers an area of 600000 = 50.000 (1)
50000cm?. How many tins of paint will be 12 tins )
needed to cover the entire fence?
(b) | If each tin costs £6.50, how much will it cost | (b) 12 X 6.50 1)
to cover the entire fence? £78 1
4) (a) | Find the area of the rectangle. Give your (a) 7x4 1)
answer in cm? 28cm? 1)
Tcm
4em
(b) | Convert your answer in (a) to m? (b) 28cm? =+ 10,000 €))
0.0028m> (0))
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Where to go next?

For more diagnostic questions, and GCSE maths revision resources and
worksheets to support students in fixing any misconceptions take a look
at the free Third Space Learning GCSE maths revision pages.

Scan the QR code to discover our library of FREE GCSE maths revision
resources

Do you have KS4
students who need
additional support in
maths?

Our specialist tutors will help students to develop the skills they need to
succeed at GCSE in weekly one to one online revision lessons. Trusted
by secondary schools across the UK.

Visit thirdspacelearning.com to find out more.
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